
T

&(1) + 2

(2)E

Ro (1) DE = EE- AB A

%= - 1 i +=) ·met
=- + +

, C

l a= )a
.

EnGa (5)

Le

Bo Alas
, Blas

, C(E)

D(a)
, E(E) , FI(F)

L:L , &LN & "

In t I 16E
- (a +2 + 2 + a +e + f)

RIMDRDE
& M & P &-> -

Is

i+ + 5+ + e +F)=l



-
4 FP + BP - zp - 3GC

=

- PA - PB +2
- 3(p3 - PG)

-
= - PA- - 4 + 3PG

=

# + BP-2p =3

50 (b) = (o)
. (i) = ()

246)o(1)(+ ) =o50
.

x - 5x - 6 + 12 = 0

(x - 2)(x - 3) = e

! Ch = 2
, 3

/ =E
e

Do Al =+ T
B

-M =M - AN ·
=-



6 (2) A . N = -P+

= & ( : (a) = 15) , E . = a)

i.I

De 50
, t= Ea

& P(x
, %) 1 : Eth

,

I
x = 2 - t

y = - + 2t
"

x = 2 - t

&
y + 2( = 3

= y = - 24 + 31

90 ( ,2):W

x = z +A

q S y - +x = - 6

St

y = 5x - 6 ,



IDo(x - 1) - 2 (y - 2) = e

110 (71 AFC P(x , 1) 1: +2 ,

|P = 11

(x -
3)+ (y -25 = (3 - 1)+(2 -1)

(x -
3) + (y -2) = 5

,

(2) # In P( , 1) 1:+L

(3) -E = /(h) (i)

I) = 5

= (2)

( -2) + (y - 2) = 5

- 12 + 2 =
- 10

#Ro cosa-Ii To

=
= 2 .5

! G = 45%



IBo L(-3
, 6

,
03 . M(0 , 6

, -5) , N(-3 ,
0

,
-5)

10 xYF : ( - 2
,

- 3
,

-4)

& E : (2 , 3 , 4)

: (2 , 3 , -4)

15 1=im + (n -2)+ (3 +2)

=+ 16 + 25

= 3f
,

16
. B = () = () .

Wi = 4 + 1 + 4 = 9

= (2) = (E) ,
I = 144 = 5

5 = (2) = (2) , 15 = 1 + 9 + 4 = 14

#B . Ed = o

ca = 90°, ,



Io P(o
, 2 ,z) 53 o

IFPR
= 9 + (1 - 113 + (z - 2)

1BP1 = 1 + 18 - 3(2 + z2

|P = 4 + (y + 12 + (z - 1)2

I
(2 -15 + (z - 2) + 9 = (1 -3)+ z + 1

(2 + 12 + (z - 15 + 4 = (2-3) + z + 1

(
- 2y + 1 - 42 + 4 + 9 = - 62 + 9 + 1

24 + 1 - 2z + 1 + 4 = 64 + 9 + 1

[

(y
- z + 1 = 0

8y - 22 - 4 = 2

(1
- z + 1 = a

69 - 6 = 0

&

i
. P(0 , 1 , 2))



18 · FB = (i) = (3) D

⑧

= (i) = (5)

# (x , y , z) 1 : * T LI
, #

# = (ii)

# · ED = (3)?

( ! ) . (2) = 3

x + y - 1 - 3 = 0

x + y - 4 =
0 +

#C . #D = (3)?

(i) . (2) = 3

y -1 + z + 2 - 3 = 2

y + z - 2 = 01

z + 2 = - y +4



180 22 + (3-1 1+ (2 +2)" = 18

(y -4) + (y - 112 + (1 -4) = 18
33 - 18 = 15

34 + (- 8 . 2 - 2)y + 16 .
2 + 1 - 18 = 0

39 - 189 + 15 = 0

y- 62 + 5 = 0

(y - 1)(y - 5) = 0

i
. (3 ,

6
, 1) , (1 , 5 , -3) i

190 (7) DG = EG-AD

=
E + e + a -

&

= + e ,

-(2) CE = FE - Ac

= --
,



Ro AB-D- Fn + BD

= FB-ED +Ac-Fc + #D- AB

& E

: AB-D=-B

RI e

2 + 3 = 2(+ ) + 3(2)

= (

- (i)
,

22o = (i) = (2)

15d = +4+ 4 = = 3 ,



RB o

(3) = s() + + (2) + u(i)

& = S + U

I 3 = 25 + 2t + 34

12 = 35 + 5t + 24

0 = S + U

I 3 = 2t + 4

12 = 5 + 5t

I
& = S + U (2)+ (2) - (i)
3 = 2t - S

12 = 5 t + S

-(i) + (i)
&

H = -
S
=

I s = - -(5)
t=

↑
= >(i) +

S=
n = -

:= +E - & ,


